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STA 442/2101 £2012 Quiz 2

1. (3 points) Food researchers seleet_a=zandem sample #2200 half-kilogram boxes of rice
from local grocery stores. One hundred boxes are randomly 1 '%(;, and the rice in
tﬂé?ﬂgls 1ifited with water before cooking. Rice from the other 100 boxes is not rinsed.
Then, all the rice is cooked in standard rice cookers for the same length of time and
using the same amount of water. A laboratory tests the concentration of arsenic (a
poison used in some pesticides) in each batch of rice. w

(a) State a reasonable model for these data. It would not be too surprising if arsenic
concentration had a distribution that was close to normal. If some of the random
variables in your model are independent of each other, be sure to mention it.
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(b) The point of the study is to see whether rinsing the rice reduces the average arsenic
concentration. Using symbols from your model, what is the null hypothesis?
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2. (7 points) Let X3,..., X, be a random sample from a Poisson distribution with pa-
rameter A > 0, so that F(X;) = Var(X;) = \. Estimate A with
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Is Xn a consistent estimator of A? Answer Yes or No. Circle the word Yes or the

word No. Show your work.
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